DAY 10
Quadrafie Equafion Arta Probowsl

G Given the diagram below, find the value of x if the 9 Given the diagram below, find the dimensions of the

area of the rectangle is 78 square meters.

) A+

X (x2) =719

XZ4X =719
X*4 % -1%=0

Rt (X -(oé <O
o Give%d': d—iag:rz belo ,3 dimensions of the 6 The dimensions of a rectangle can be expressed as

rectangle if the area of the rectangle is 108 square
meters.
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rectangle if the area Is 128 square feet.
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x+7

(x+2)(%-8) 7 O

x + 3 and x - 8. If the area of the rectangle is 60
square Inches, what Is the value of x?

Gl | X1

"1

(xt3)

xt-gx-8% =0
(- 1) =0 y 1737

e The length of a rectangular garden is 4 meters more
than Its width. The area of the rectangle Is 60
meters. Find the dimensions of the rectangle.

Lz 4+W

X
[ eSS

A+ :
W(4 +W) = 0
4w + W =00

)

The length of a rectangle Is 6 meters less tha
width, Find the dimensions of the rectangle If its
area Is 27 square meters.

W+ 4w-60=0
(W 416 (W) 2O
wW=-10
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PROJECTILE MOTION

. Asoccer ball is kicked from the ground with an Initial upward velocity of 90 feet

per second. The equation h = —16¢? + 90t gives the height h of the ball after

tseconds. 2 = 'be"'fQOX
a. Find the maximum height of the ball.
moxAveriex: (294 ‘26-ﬂ
X

mok mfgﬂm: 126 S0 :?e‘r

.
b. How many seconds#will it take for the ball to reach the ground?

X- intRrept - (&st 0
s £t 5 1 up= 9o

An apple is launched directly upward at 64 feet per second from a platform 80
feet high. The equation for this apple’s height h at time t seconds after launch
is h = ~16¢% + 64t + 80.

\9'- oty L4 x t BO
a. Find the maximum height of the apple.
Max/vrEy: (2, KA
* Y
t h
b..How many seconds will it take for the apple to reach the ground?
Y- inkreept: (5:0)
XY
t h

. In science class, the students were asked to create a container to hold an egg.

They would then drop this container from a window 25 feet above the ground.
The equation h = —16¢2 + 25, gives the container’s height h after t

w120.50 &.
b.s-kis See.
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a Find the lﬂxlmuk#elght of the container.

wmar/yevier ;. (0115)

X-inyereept = (1.15,0)
x Y

+ h
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b. How manﬂ coftds will it take fme container to reach the ground? a— Y ? h M

o
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